BIOLOGY PAPER 1 (231/1)

MARKING SCHEME
1. State the significance of the fo]_ldwing'charac':'fer‘isti-cs of living organisms. (2marks)
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2. The scientific name lantana camara refers to a green herbaceous plant. Other related plants
include lantana trifoliate and vitex trifc/inte. From the list, identify the plants belonging to the same

genus, . (2marks)
RO eereereensereen o B (e S parmidely
3. Which cell organelle will be abundant in: (2marks) :
i. Skeletal muscle cell . e < .
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ii. Palisade cell o : ' I
......................... coCllamplant o h h e e
4. An experiment was set up as shown below. The set up was left for 30 minutes.
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- solution

: Visking tube

v -~ Distllled water

i. State the observations made after 30 minutes. Aot S 0 - . (Imark)
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ii. Explain the obseryations made in (i) above. Eis 4 (3marks),_
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5. The diagram below represents a section though a human tooth

oH
| D) ( I mark)
(1 mark)
...... ST T ERA R PO ST
| (b) State the functions of the structures found in part labeled J (2 marks)
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6. Describe what happens during the light stage of photosynthesis (3 mark§ :
A oend R
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a. Name the structures labeled R, S and a cell labeled T (3amrks)

Ceil T, .C:w "hgpcmm ....... Q&uj
b. State the function of the structure labeled S (Imark)
........ TrdnS‘oCa‘honr
8. a) What prevents blood in veins from ﬂowmg back wards? (Imark)
Vahru polanien b i S
b) State two ways in which the red blood cells are adapted to their functlons (2marks)
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9. Differentiate between Active Immunity and Passwe immunity. (Zmarks)
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10. State three gﬁge(haexché’r%e struc:efure?:n terre trld? (3marks) it '
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I'l. Give two reasons why accumulation of lactic acid during vigorous exercise leads to an inerease

in heart beat, SR, : (2marks)

.......... “Lac,s(\“caw:\U’\‘K?t*‘-kmwo%murttew:mw@ Fon
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— T facreale :“Pf’b =4 ijgem S s:rubs;m
. The diagram below illustrates part of'a Nephron from a mammaljan kidney.
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a. Name the fluid in the part labeled Q (Imark) .
................ Gl oo ... fetded —g(‘rfmUQ

b. Identify the process responsible for the formation of the fluid named in (a) above.  (Imark)
...................... Utﬁ’ﬁ”‘fﬂ\bé‘m

¢. Which two hormones exert their effects in the Nephron? (2marks)
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13. Give one economic importance of the following plant excretory product. ~ (Imark)

i. Tannins

--------------------------------
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a. Name. the structures labeled A and C : : ~ (2marks)
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¢. Give a reason for your answer in (b) above (Imark)
- )
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15. Name the phylum, whose members posses a notochord. (1mark)
................. CLofaq&QJ
16. Define the following terms; (3marks)

i. - Ecological nigh ‘ : 5, :
...... The Dh'ink'“-\p\ o B Y °“\:&MQC(MP“‘HM‘OQLQ‘=::\T\ 5

ii. Habitat <

oS dpeshie bl i g parenlar. ek ok ooy Uloe
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............................................................................................

Bird 70

Largé fish ; 40 .
Small fish S
Wate:r plants | 0.08
g AL what trophic level is DDT most likely to have the highest marked effect? (Imark)
............ e L VT G s R R
b. Suggest two ways in which the birds might have come into contact with DDT (2marks)
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18. Study the diagram that follow and use it to answer the questions that follow:

_G‘.\at(:‘\;x. = Rs sva relea® by Vs Oven o tls ,_({Qm{;ﬁ :

............................ R g R Sk R TR £ M L SR
. bk =, Wleie f@/{“ﬂ,\(&ﬁf‘\&k .= CCserX :’, ........ i SRR o S
@ 19 19. Explain how the following factors hinder self-péili'na.t'ion in plants. (2Zmarks)
‘ L Protogynys i gt ' : x ' :
‘L -T2 58 «Mi\wlhfoWﬁnwNLaaq’tuSJfawwﬂ?f'A&&W /X
Carler aN onteg gle) pollon avating Lz:%st e Shgma ‘i Mg . e {a
ii. Dioecism ® "CG‘U‘Y" 1\9;_“'.“ J : ' ; 3
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20. a) Name the part of the flower that develops into each of the following (2m.arks)
i. Seed coat.
R gan e 2 TR AT R d s D E
ii. Seed
X
.............. VL&K&_‘.
| b) State two environmental conditions that can cause seed dormancy . . (2marks) -
| e oS oncea ok R bR 5 ~hlasc el AWt
PSR oY -—Uns».&im,h&mgm*‘ewij ........................................................
— Ln.cv'(_.b,\."&ax G o | ' ;
¢) State two ways of breaking seed dorm ncy & (2marks)
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- d) Give one role of water in germination £ 3 ~ (Imark)
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21. Define the following terms as used in genetics. (3marks)

dm(-ap\—d( b& a Pay Q'\'
ii. Gene mutatio ;

eQ:éea-»mc,lﬂa 2.t Ne &M@arﬁ-qi';w;‘ ......

iii. Discontinuous variation & L
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22. State two sex-linked traits located on the Y-chromosome 2 = (2marks)
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24, State _three types of neurons € \t%3, apltdlg o enenoeonts (3marks)
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25. Name the stimuli whichi causes the following types of responses (3marks)

i Phototi"opism SRS R i

................... =y Cavabure in regeante. s Tla, Srechia
; a tv‘u-‘.e«s'(—\j- of lfﬁk-tj..

ii. Chemotaxis -
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